
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

 

 
 

 

 
 

 

 
 
 
 

 
 
 
 
 
 
 

 9-= د  6د + 4

 م2  8) = 5-م  2( 3

   11-=  5-س 

   +5     +5 

 ــ  ـــــــــــــــــــــــــــــ

 6 -س =

 11-=5-6-تحقق:  

2
3

 - 
1
4

= ص +  
1
4

- 
1
4

 

ص=  
3−8
12

 

ص = 
5
12

 

تحقق: أعوض قیمة ص في المعادلة فیكون الطرفین  
 متساویین      
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ت
6

  =- 3 

ت
6

  ×6 =- 3  ×6 

 18-ت = 

تحقق:   
18−
6

  =- 3 

 

 

 

   5+ 13=  5+ 5-أ 2

 18أ = 2

أ2
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 =
ت
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ب
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 -3+3 =9 +3 

ب
4

  =12 

ب
4

 ×4 =12 ×4 

 48ب = 

 تحقق:   

48
4

 -3 =12-3=9 

 

 9ل + 5=  3ل + 8

   3 –  9ل =  5  –ل  8 

   6ل =  3

   2ل =  

   9+ 2×5=3+2× 8تحقق: 

19=19 

 ھ ـ –  36=   24ھـ + 3

   24-36ھـ + ھـ =  3

 12ھـ =  4

 3ھـ =

 تحقق:   

3
4

  ×3 +6 =9- 
1
4

  ×3 

8.25=8.25 

 

�4  0= 6-� س−

�4  6= � س−

 6-=  4-أو       س             6=  4-س

 4+6-=4+4-س         4+6=  4+ 4-س

 2-س=                           10س= 
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�5 +  9= � 2س

 9-=  5س +  2                  9=  5س +2

 5- 9-= 5-5س +  2     5-9=5-5س + 2

 7-س = 2                      4س =  2

  7-س =                             2س = 

 

3ص  � −  س 2+ � 2

|7 × 3 − 2 | +2 ×-4 

19-8=11 

 

2 ع � + 4 ص   ع 3 -� −

|9 −×  2 + 7 ×  4 − |- 3 ×-9 

|18 − 28 − |+27 

=46 +27 

=73 

 

 65س =   2.6

 65س =   2.6

   25س = 

 سم   25متوسط طول السمكة 

�200  5= �  س−

 5-= 200-أو      س         5=  200-س 

 200+5-=200+200- س   200+5=200+200-س

 195س=                              205س=

  195والصغرى  205درجة الحرارة العظمى 
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 5) +5-) +(س4-) = (س10-+ ( س16+10

 4-س 2=  10-+س26

 4-س  2+ س = 16

 4+ 16س =   –س 2

 20س=
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